

Konzultáció P0 2024.12.16.

$$\int \underbrace{\cos^2(2x)}_{f(g(x))} \cdot \underbrace{\sin(2x)}_{g'} dx = \frac{1}{-2} \cdot \int \underbrace{\cos^2(2x)}_{f(g(x))} \cdot \underbrace{(-2 \sin(2x))}_{g'} dx =$$

$$f(g(x)) \quad f(x) = x^2 \rightarrow F(x) = \int x^2 dx = \frac{x^3}{3}$$
$$g(x) = \cos(2x) \quad g'(x) = -\sin(2x) \cdot 2$$

$$= \frac{-1}{2} \cdot \frac{(\cos(2x))^3}{3} + C = \frac{-1}{6} \cdot \cos^3(2x) + C$$

" $\frac{x^3}{3}$

Ell.:

$$\left(-\frac{1}{6} \cdot \cos^3(2x) \right)' = -\frac{1}{6} \cdot 3 \cos^2(2x) (\cos(2x))' =$$

$$= -\frac{1}{2} \cdot \cos^2(2x) \cdot -\sin(2x) \cdot (2x)' = \cos^2(2x) \cdot \sin(2x)$$

$$\int \frac{f \cdot g'}{\text{inverse}} \arcsin(3x) dx = \int \underbrace{1}_{g'} \cdot \underbrace{\arcsin(3x)}_f dx = *$$

$$(\arcsin x)' = \frac{1}{\sqrt{1-x^2}}$$

$$\int f \cdot g' dx = f \cdot g - \int f' \cdot g dx$$

$$f = \arcsin(3x) \quad f' = \frac{1}{\sqrt{1-9x^2}} \cdot 3$$

$$g' = 1 \rightarrow g = x$$

$$* = \underbrace{x}_{\hat{g}} \cdot \underbrace{\arcsin(3x)}_{\hat{f}} - \int \frac{1}{\sqrt{1-9x^2}} \cdot \underbrace{3 \cdot x}_{f' \cdot g} dx =$$

$$= x \cdot \arcsin(3x) + \frac{1}{6} \int \frac{1}{\sqrt{1-9x^2}} \cdot \underbrace{(-18x)}_{g'(x)} dx = **$$

$$f = \frac{1}{\sqrt{x}} = x^{-\frac{1}{2}} \rightarrow F = \int x^{-\frac{1}{2}} dx = 2\sqrt{x} + C$$

$$g = 1-9x^2 \quad g' = (-18x)$$

$$** = \underbrace{x \cdot \arcsin(3x) + \frac{1}{6} \cdot 2\sqrt{1-9x^2}}_{F(g(x))} + C$$

$$\int \frac{1}{\cos^2(x) \cdot \sqrt{\operatorname{tg}(x)}} dx = \int \underbrace{\frac{1}{\sqrt{\operatorname{tg}(x)}}}_{f(g(x))} \cdot \underbrace{\frac{1}{\cos^2(x)}}_{g'(x)} dx =$$

$$= 2\sqrt{\operatorname{tg}(x)} + C$$

$F(g(x))$

$f = \frac{1}{\sqrt{x}} \rightarrow F = 2\sqrt{x}$
 $g = \operatorname{tg} x \rightarrow g'(x) = \frac{1}{\cos^2 x}$

$$(2\sqrt{\operatorname{tg}(x)})' = 2 \cdot \frac{1}{2\sqrt{\operatorname{tg}(x)}} \cdot \frac{1}{\cos^2 x} = \frac{1}{\cos^2 x \cdot \sqrt{\operatorname{tg} x}}$$

$$(-1) \int \underbrace{\frac{1}{\cos^2 x}}_{f(g(x))} \cdot \underbrace{-\sin x}_{g'} dx = (-1) \cdot \frac{-1}{\cos x} + C = \frac{1}{\cos x} + C$$

$$F = \int \frac{1}{x^2} dx = \int x^{-2} dx = \frac{x^{-1}}{-1} + C = -\frac{1}{x} + C$$

$$\int e^{2x} \cdot \ln(x) dx = \underbrace{\dots\dots\dots} - c \int e^{2x} \cdot \ln(x) dx$$

$f' \cdot g$

$$(1+c) \int e^{2x} \cdot \ln(x) dx = \dots\dots\dots$$

$$\int \underbrace{(x^2+1)}_g \cdot \underbrace{e^{2x}}_{f'} dx = \underbrace{e^{2x} \cdot (x^2+1)}_{f \cdot g} - \int \underbrace{\frac{e^{2x}}{2}}_{f \cdot g'} dx =$$

$f' \rightarrow f = \frac{e^{2x}}{2}$

$$g = x^2 + 1 \rightarrow g' = 2x$$

$$= \frac{1}{2} e^{2x} \cdot (x^2 + 1) - \int \underbrace{x \cdot e^{2x}}_{g \cdot f'} dx = \frac{1}{2} \cdot e^{2x} (x^2 + 1) -$$

$f' \rightarrow f = \frac{e^{2x}}{2}$

$$g = x \rightarrow g' = (x)' = 1$$

$$- \left(\frac{e^{2x}}{2} \cdot x - \int \frac{e^{2x}}{2} \cdot 1 dx \right) = \frac{1}{2} \cdot e^{2x} \cdot (x^2 + 1) - \frac{e^{2x}}{2} \cdot x + \frac{1}{2} \int e^{2x} dx =$$

$$f \cdot g - \int f \cdot g'$$

$$= \frac{1}{2} \cdot e^{2x} \cdot (x^2 + 1) - \frac{1}{2} \cdot e^{2x} \cdot x + \frac{1}{4} \cdot e^{2x} + c$$

$$\int \underbrace{\sinh(x)}_{f'} \cdot \underbrace{(5x+5)}_g dx = \underbrace{dx}_{f \cdot g} \cdot (5x+5) - \int dx \cdot 5 dx =$$

$$f = dx(x) \quad g' = 5 \quad = \sinh(x)(5x+5) - 5 \cdot \sinh(x) + C$$

Ell: $(dx) \cdot (5x+5) - 5 \cdot \sinh(x) =$

$$\sinh(x) \cdot (5x+5) + \cancel{dx} \cdot 5 - 5 \cdot \cancel{dx}$$

Remotör - elv

$$\lim_{n \rightarrow \infty} b_n = ?$$

$$\overline{a_n} \leq b_n \leq \overline{c_n}$$

\downarrow \downarrow

A A

eller $b_n \xrightarrow[n \rightarrow \infty]{} A$

$$\lim_{n \rightarrow \infty} \sqrt[n]{n} = 1$$

$$\sqrt[n]{3} : \{3, \sqrt{3}, \sqrt[3]{3} \dots\} \rightarrow 1$$

$$\lim_{n \rightarrow \infty} \sqrt[n]{n^2 + n + 3} = 1$$

$$\sqrt[n]{n} \rightarrow 1$$

$$\sqrt[n]{n^2} = (\sqrt[n]{n})^2 \rightarrow 1^2 = 1$$

$$\sqrt[n]{n} \leq \sqrt[n]{n^2} \leq \sqrt[n]{n^2 + n + 3} \leq \sqrt[n]{n^2 + n^2 + n^2} = \sqrt[n]{3n^2} = \sqrt[3]{3} \cdot \sqrt[n]{n^2}$$

\downarrow \downarrow \downarrow \downarrow \downarrow \downarrow

1 1 1 1 1 1^2

$$\lim_{n \rightarrow \infty} \sqrt[n]{3^n - 2^n} = 3$$

$$\sqrt[n]{n} \rightarrow 1$$

$$\sqrt[n]{3^n} = 3 \rightarrow 3$$

$$\sqrt[n]{2^n} = 2 \rightarrow 2$$

$$\underbrace{\sqrt[n]{3^n - 3^n}}_{\sqrt[n]{0}} \leq \underbrace{\sqrt[n]{3^n - \frac{3^n}{2}}}_{\sqrt[n]{\frac{3^n}{2}}} \leq \sqrt[n]{3^n - 2^n} \leq \sqrt[n]{3^n} = 3$$

$$\sqrt[n]{0} \rightarrow 0$$

$$\begin{aligned} & \sqrt[n]{\frac{3^n}{2}} \\ &= \frac{3}{\sqrt[n]{2}} \\ & \sqrt[n]{2} \rightarrow 1 \\ & \downarrow \\ & 3 \end{aligned}$$

$$2^n \leq \frac{3^n}{2} \leq 3^n$$

$$2 \leq \frac{3}{2}$$

$$4 \leq \frac{9}{2} = 4,5$$

⋮

$$\left(\sqrt[n]{3^n + n^2} \right)$$